Unit 1

CGI Problems for Tightwad Tod

e

(Result Unknown) ¥ &

(Change Unknown) &

(Start Unknown)

have than Ernest?
(10,5) (20,10) (25, 10)

(10,5) (20,10) (25,10)

IS Tod had __ pennies. Tod had _. How many | Tod had some money to
o His brother gave more dollars does Tod | spend. His brother gave
O him __ pennies. need to save in order to | him __. Now Tod has
< How many penhies have __ for a new toy? | __ to spend. How much
does Tod have now? money did Tod have to
($3. $8) ($5, $10) ($10, 13) | start?
(5,4) (15, 3) (20, 4) ($3. $10) ($5, $15) ($12, $15)
(Results Unknown) < (Change Unknown) (Start Unknown)
g Tod had Tod had $ . He | Tod had some money. He
Lt dollars. He spent spent some of it at the | spent $____ at the mall.
____dollars for a mall and now he has | Now he has $____. How
_9" present. How many | $____. How much money | much money did Tod
IS dollars does he did he spend at the | have to start?
have now? mall?
(4,6) (18,9) (20,5)
(10,5) (15,5) (100, 25) (10, 6) (15,9) (100, 25)
} (Total Unknown) (Addend Unknown)
v £ o
_'-_C_ Q| Tod went shopping. He spent $__ | Tod had __ coins in his piggy bank.
Q % onsnacks and $____on toys. How | _— were pennies and the rest were
8’ 0 much money did he spend all dimes. How many were dimes?
 x together?
+— '_? (20,5) (50,10) (100, 60)
O:. (5,20) (10,30) (50,50)
(Difference Unknown) (Bigger Unknown) (Smaller Unknown)
* A
Tod had Tod had dollars. | Ernest spent __
Q dollars. His His brother, Ernest, dollars. That's __
% brother, Ernest, had dollars more | dollars more than Tod
g' had dollars. than Tod had. How spent. How many dollars
O | How many more many dollars did Ernest | did Tod spend?
O dollars did Tod have?

(5,3) (10,5) (25, 20)
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Unit 1

C6GI Problems for Tightwad Tod

re

(Resultados desconocidos)

“ A
Tod tenia centavos. Su
hermano le dio

(Cambio desconocido) A

Tod tenia . éCudntos
necesita para tener

(Inicio desconocido)

Tod tenia dinero para
gastar.

(10,5) (20,10) (25,10)

(10,5) (20, 10) (25, 10)

L centavos. ¢Cuantos tiene | para poder comprar un | Su hermano le dio .
[ = ahora? nuevo juguete? Ahora Tod tiene ____
> para gastar. ¢Cuanto
(5,4) (15,3) (20,4) (53,58) ($5,510) dinero tenia al empezar?
(510, 139)
($3,$10) (85, S15)
(512, 515)
(Resultados desconocidos) < (Cambio desconocido) (Inicio desconocido)
Tod tenia dolares. Tod tenia $ . Gastd | Tod tenia algo de dinero.
‘5 Compréounregalode | algoenelcentrocomercial | Gasté Sy ahora le
% dodlares. ¢Cuantos dblares |y ahora le quedan $__ .| quedan $ . éCuanto
[« 8 le quedan? ¢Cudnto dinero se gasté | dinero tenia al empezar?
Q
(1) en el centro comercial?
(10, 5) (15,5) (100, 25) (10,6) (15,9) (100, 25) (4,6) (18,9) (20,5)
(Todo desconocido) e (Parte desconocida)
O ,
'g Tod fue de compras. Gasté $____en Tod tenia___ monedas en su
[t meriendasy $ ___ comprando juguetes. | banquito. Tenia ___ centavosy lo
' ¢Cuénto dinero gasté en total? demas monedas de diez centavos.
..Q_’ ¢Cudntas monedas de diez centavos
[ 4 ,
tenia?
o
a (5,20) (10,30) (50, 50)
(5,20) (10,50) (60, 100)
(Diferencia desconocida) (Cantidad a comparar | (Referente desconocido)
w A desconocida)
Tod tenia délares. ) ) Ernesto gasté
‘6 Su hermano, Ernesto, Tod tenia____ dolares. délares. Eran
% tenia ddlares. Su P'\ermano,,Ernesto,, ddlares mas que gasto
0. | ¢Cudntos dolares de mas tenla__ dollares mas Tod. ¢Cudntos dolares
£ |teniaTod? que Tod. ¢Cuantos gasto Tod?
o dolares tenia Ernesto?
(S

(5,3) (10,5) (25, 20)
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CGlI Graphic Organizer

(Notes)

Show your work:

Answer:

(label)

Explain your strategy:

(Notes)

Show your work:

Answer:

(label)

Explain your strategy:
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Ve

Unit2 CGI Problems for Water Habitats
(Result Unknown) s A | (Change Unknown) A (Start Unknown)
There were  alligators | Alligator in the swamp | There were some hippos
in the swamp.  more caught  fish. How | intheriver.  more
alligators crawled into the | many more fish will he | hippos joined them. Now
Add To ) . .
swamp. How many need to catch in order to | there are  hippos in
alligators are in the swamp | have  fish, enough for | the river. How many
now? his supper? hippos were in the river
to start?
(7,3) (13,25) (15,25) |(2,8) (11,21) (10,12) | (4,6) (5,10) (10, 16)
(Result Unknown) + (Change Unknown) (Start Unknown)
There were  eggsin | There were  duck | There were some duck
duck nests in the pond. eggs in nests in the pond. | eggs in nests in the pond.
Take From — of them hatched. How | Some of them hatched. |  of them hatched.
many eggs are there now? | Now there are  duck | Now there are  eggs.
eggs. How many eggs | How many eggs were
hatched? there to start?
(10, 5) (22,2) (13,9) (10,7) (16,6) (24,5) (2,8) (13,12) (21,8)
(Total Unknown) s (Addend Unknown)
Put
Together/| There were seastarsand  sea | There were  sea creatures in the tide
Take | snails in the tide pool. How many sea pool.  were sea stars and the rest
Apart | creatures were in the tide pool all were sea snails. How many sea snails
together? were there?
(2,8) (10,32) (17,19) (10, 1) (15,12) (23,9)
(Difference UnknOWQA (Bigger Unknown) (Smaller Unknown)
Colorful coral live in the Colorful coral live in the | Colorful coral live in the
coral reef. The red coral coral reef. The red coral | coral reef. The red coral
Compare was _ inches tall. The |was  inches tall. It was __ inches tall. It
yellow coral was was ___ inches shorter was __ inches taller
inches tall. How much than the yellow coral. than the yellow coral.
taller was the red coral How tall was the yellow | How tall was the yellow
than the yellow coral? coral? coral?
(10,9) (23, 12) (22, 19) (5,5 (13,4) (15,9) (10, 3) (10,7) (25,9)
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Ve

Unit2 CGI Problems for Water Habitats
(Resultados % A (Cambio desconocido) A | (Inicio desconocido)
desconocidos)
Un cocodrilo en el Habia unos hipopotamos
Habia cocodrilos | pantano atrapo enelrio.
en el pantano. peces. ;Cuantos peces hipopdtamos mas
Unir cocodrilos mas se mas tiene que atrapar bajaron al rio. Ahora
arrastraron al pantano. para peces para su | hay hipopdtamos
(Cuantos cocodrilos hay | comida? en el rio. ;Cuantos
ahora en el pantano? hipopo6tamos habia en el
rio para empezar?

(7,3) (13,25) (15,25) | (2,8) (11,21) (10,12) (4, 6) (5, 10) (10, 16)
(Resultados * (Cambio desconocido) (Inicio desconocido)
desconocidos)

Habia  huevos en los | Habia algunos huevos en
Habia huevos en los | nidos de patos de la | los nidos de patos de la
nidos de patos en la laguna. Algunos de ellos | laguna. ~ de ellos
Separar | laguna.  de ellos dieron polluelos.  de | dieron polluelos. Ahora
dieron polluelos. ellos no dieron polluelos | hay huevos.
(Cuantos huevos no (Cuantos huevos dieron | ;Cuantos huevos habia
dieron polluelos? polluelos? para empezar?
(10,7) (16,6) (24,5) (2,8) (13,12) (21, 8)
(10, 5) (22,2) (13,9)
(Todo desconocido) s (Parte desconocida)
Habia estrellasdemary Habia un total de  estrellas y
Parte - | caracoles de mar en el charco de marea. | caracoles de mar en el charco de
Todo (Cuantas estrellas y caracoles habia en | marea. Si hubiera estrellas de
el charco de marea? mar en el charco de marea, ;cuantos
caracoles habria?
(2,8) (10,32) (17, 19) (10, 1) (15,12) (23,9)
(Diferencia desconocida) | (Cantidad a comparar | (Referente
Y% A | desconocida) desconocido)
Coloridos corales viven
en el arrecife. Un coral Coloridos corales viven | Coloridos corales viven
rojomedia  pulgadas | en el arrecife. El coral en el arrecife. El coral
de alto. Un coral amarillo | rojo media  pulgadas | rojomedia
Comparar

media  pulgadas de
alto. ;Cuéanto mas alto es
el coral rojo que el coral
amarillo?

(10,9) (23, 12) (22,19)

de alto ytenia
pulgadas menos que el
coral amarillo. ;Cuénto
media el coral amarillo?
(5,5) (13,4) (15,9

pulgadas. Media
pulgadas menos que el
coral amarillo. ;Cuénto
media el coral amarillo?

(10, 3) (10,7) (25,9)

Summer Math: Crayon lcon — Unit 2, Educator Packet (Summer 2019)

Page 8




Unit 3 CGI Problems for The Monster in the Mattress

Ve

(Result Unknown) % A

(Change Unknown) A

(Start Unknown)

fewer green frogs did they
have than white frogs?

(7,13) (8,17) (9, 14)

than green frogs. How
many white frogs did they
have?

(5,6) (8,9) (12,7)

____of Abuelo’s Abuelo’s grandchildren had | Abuelo’s grandchildren
Add To grandchildren were playing |  green frogs. How many | had some frogs. They
inthe yard.  more more frogs do the children | caught  more frogs.
grandchildren came out to need to find so that they will | Now they have  frogs.
play. How many have ~ green frogs all | How many frogs did they
grandchildren in all? together? have to start?
(10,6) 8,7 (5,8) (15,25) (7,12) 9, 17) | (6,13) (9,15)(4,12)
(Result Unknown) # (Change Unknown) (Start Unknown)
____of Abuelo’s Abuelo’s grandchildren had | Abuelo’s  grandchildren
grandchildren were playing |  frogs. Some frogs | had some green frogs.
Take From| in the yard.  children hopped away. Now there | frogs hopped away. Now
went in for a drink. How are _ frogs. How many | there are  frogs. How
many children are playing frogs hopped away? many frogs did the children
now? have to start?
(17,7) (18,9) (16,7) (19, 10) (15,7) (14,6) (6,8) (9,5) (4,13)
(Total Unknown) e (Addend Unknown)
Put
Together/ | Abuelo’s grandchildren had _ green Abuelo had candles on his birthday
Take frogs and  white frogs. How many cake.  were lit and the rest were not.
Apart frogs did they have in all? How many candles were not lit?
(7,5 4,8 (5,9 (50, 25) (50,13) (50,37)
(Difference Unknown) # A | (Bigger Unknown) (Smaller Unknown)
Abuelo’s grandchildren had | Abuelo’s grandchildren Abuelo’s grandchildren
__green frogsand had _ green frogs. They had _ green frogs. They
white frogs. How many had  more white frogs | had  more green frogs
Compare

than white frogs. How
many white frogs did they
have?

(15,7) (18,9) (19, 6)
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Unit 3 CGI Problems for The Monster in the Mattress

Ve

Multiplication

Measurement Division

Partitive Division

Grouping
and
Partitioning

Abuela decorated
Abuelo’s birthday cake
with lots of candles. She
arranged them in___ rows.
There were _ candles in
each row. How many
candles in all?

(3,20) (10,6) (12,5)

Abuela decorated Abuelo’s
birthday cake with
candles She put
candles in each row. How
many rows were there?

(60, 10) (60, 5) (60, 30)

Abuela decorated
Abuelo’s birthday cake
with _ candles. She put
the same number of
candles in each row.
There were  rows.
How many candles did
she put in each row?

(70, 7) (70, 35) (70, 10)
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Unit 3 CGI Problems for The Monster in the Mattress

Ve

(Resultado desconocido) | (Cambio desconocido) (Inicio desconocido)
* A A
___de los nietos de Los nietos de Abuelo Los hietos de Abuelo
Abuelo jugaban afuera. | fenian ___ ranas verdes. | tenian algunas ranas.
£ | __nietos mas salieron a | ¢Cudntas ranas mds Atraparon __ ranas
S jugar. ¢Cudntos nietos | necesitan encontrar mds. Ahora tienen __
hay en total? para fener __ ranas ranas. ¢Cudntas ranas
verdes en total? tenian al empezar?
10,6 8,7 5,8
15,25 7,12 9,17 | 6,13 9,15 4,12
(Resultado desconoabi )| ( Cambio desconocido ) | ( Inicio desconocido )
___de los nietos de Los hietos de Abuelo Los hietos de Abuelo
iy Abuelo jugaban afuera. | tenian __ ranas. Algunas | tenian algunas ranas
S | — muchachos entraron | ranas salieron saltando. | verdes.__ ranas
S | enlacasaparauna Ahora hay __ ranas. salieron saltando .
& | bebida. cCudntos nietos | ¢Cudntas ranas salieron | Ahora hay __ ranas.
V| estdn jugando ahora? saltando? ¢Cudntas ranas tenian
los nifios al empezar?
17,7 18,9 16,7 19,10 15,7 14,6
6,8 9,5 4,13
(Total desconocido) 4 (Parte desconocido)
AN , ,
£ Los nietos de Abuelo tenian ___ranas | Abuelo tenia ___ velas en su pastel
W | verdesy __ ranas blancas. ¢Cudntas | de cumpleafios. __ estaban
S | ranas tenian en total? encendidas y lo demds no. ¢Cudntas
n%. velas no estaban encendidas?
5 7,5 4,8 5,9
+ 50,25 50,13 50, 37
e
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Unit 3 CGI Problems for The Monster in the Mattress

Ve

(Diferencia A (Comparar a cantidad (Referente
desconocida) desconocida) desconocido)
Los nietos de Abuelo Los nietos de Abuelo Los nietos de Abuelo
5 tenian __ ranas tenian __ ranas verdes | tenian __ ranas verdes .
S |verdesy__ranas . Tenian __ ranas Tenian __ ranas verdes
g‘ blancas. ¢Cudntas blancas mds que ranas | mds que ranas blancas.
& | ranas verdes menos verdes. ¢Cudntas ranas | ¢Cudntas ranas blancas
tenian que ranas blancas tenian? tenian?
blancas? 5,6 8,9 12,7 15,7 18,9 19,6
7,13 8,17 9,14
Multiplicacion Division de medidas Division partitiva
c Abuela decoré el Abuela decoré el Abuela decoré el
8 pastel de cumpleafios | pastel de cumpleafios pastel de cumpleaiios
% de Abuelo con muchas | de Abuelo con ____ de Abuelo con _____
> velas. Las arreglo en velas. Metié ___ velas en | velas. Metié el mismo
-og __ filas. Habia __ cada fila. ¢Cudntas filas | nimero de velas en
-g velas en cada fila. habia? cada fila. Habia
g | ¢Cudntas velas hay en filas. ¢Cudntas velas
& | total? habia en cada fila?
< 13,20 10,6 12,5 | 60,10 60,5 60, | 70,7 70,35 70,
30 10
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Unit 4 CGI Problems for Aesop's Fables

e

(Result Unknown)* A | (Change Unknown) A (Start Unknown)
mice were having a| There were _ pebbles in | There were some pebbles
meeting in the barn fo | the pitcher.  How  many | in the pitcher. Crow put __
figure out how to avoid the | more pebbles will crow need to | more pebble(s) in the
Add To cat. __ more barn mice put in the pitcher in order to | pitcher. Now there are __
came to the meeting. How | hqve pebbles in the | pebbles in the pitcher. How
many mice are at the pitcher, enough to get a drink? | many pebbles were in the
meeting now? pitcher to start?
6,7 8,5 19,18 12,27 18,41 29,12 6,15 20,35 17,626
(Result Unknown) * (Change Unknown) (Start Unknown)
There were mice | There were __ mice meeting Crow had a pile of pebbles.
meeting in the barn to | inthe barn to figure out how | He dropped in the
figure out how to avoid the | o avoid the cat. Some mice pitcher. Now he has ___
Take From | cqt, mice scampered | scampered away. Now there pebbles in the pile. How
away. How many mice are in | are __ mice at the meeting. many pebbles were in the
the barn now? How many mice scampered pile to start?
away?
35,10 17,9 22,13 12,5 21,11 27,8 12,13 17,8 9,15
Total Unknown) < (Addend Unknown)
Put Crow dropped __ small pebbles and ___ big Crow dr'op[?ed ___ pebbles into the pitcher.
Together/ pebble(s) into the pitcher. How many ___ were big and the rest were small. How
Take Apart | Pebbles did he drop into the pitcher all many pebbles were small?
together?
86 16,4 19,15 14,5 19,11 22,7
(Difference Unknown) % A| (Bigger Unknown) (Smaller Unknown)
The stag had lots of points | Crow  dropped small
on his antlers. There were | pebbles intfo the pitcher. He| Crow has __  smooth
__points on his left antler, | dropped __  more big| pebbles. He has __ more
Compare | and __ on his right antler. | pebble(s) than small pebbles.| smooth pebbles than rough
How many fewer points on| How many big pebbles did| pebbles. How many rough
the left antler than the| he drop into the pitcher? pebbles does Crow have?
right?
12,15 14,18 15,21 8,3 6,9 19,5 9.5 8,7 15,7
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Unit 4 CGI Problems for Aesop’s Fables y

Grouping
and
Partitioning

Multiplication

Crow has ___ piles of
pebbles. There are __
pebbles in each pile. How
many pebbles does Crow
have in all?

3,10 6,5 9,2

Measurement Division

Cat counted ___ mouse feet.
There are four feet on each
mouse. How many mice were
there?

Partitive Division

There are ___ mice that
want to have teams to try
to put a bell on the cat. If
there are ___ teams, how
many mice will be on each
team if all of the teams
have an equal number of
mice?

15,5 18,3 20,10
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Unit 4 CGI Problems for Aesop's Fables

Ve

(Resultado Desconocido)

* A
_ ratones estaban
reunidos en el granero para
pensar como evitar al gato.

(Cambio Desconocido) A

Habia __  piedras en la
jarra. ¢Cudntas piedras mds
tendrd que poner el cuervo en la

(Inicio Desconocido)

Habia algunas piedras en la
jarra. El cuervo puso __
piedra(s) mds en la jarra.

Unir Otros __ ratones de | jarra para tener __  piedras | Ahora hay __ piedras enla
granero mds vinieron a la | en la jarra, suficientes para | iqprq. ¢Cudntas piedras
reunion. ¢Ahora cudntos | Poder beber unitrago? habia al principio en la
ratones hay en la reunién? Jarra?

6.7 8,5 9,8 12.27 18,41 2012 |6.15 20,35 17,26
(Resultado Desconocido) (Cambio Desconocido) (Inicio Desconocido)
*
Habia __ ratones reunidos | There were __ mice meeting | Crow had a pile of pebbles.
en el granero para pensar | in the barn to figure out how | He dropped in the
cémo evitar al gato. to avoid the cat. Some mice pitcher. Now he has __
Separar ratones se escabulleron. | scampered away. Now there pebbles in the pile. How

¢Ahora cudntos ratones hay
en el granero?

35,10 17,9 22,13

are __mice at the meeting.
How many mice scampered
away?

12,5 21,11 27,8

many pebbles were in the
pile to start?

12,13 17,8 9,15

Parte-Parte

(Entero Desconocido) *

El cuervo dejé caer ___ piedras pequefias y
___piedra(s) grande en la jarra. (Cudntas

(Parte Desconocida)

El cuervo dejé caer ___piedrasenla jarra. __
eran grandes y el resto, pequefas. ¢Cudntas

Entero - o .
piedras dejé caer en la jarra en total? piedras eran pequefias?
8,6 16,4 19,15 14,5 19,11 22,7
(Diferencia Desconocida) (Cantidad Desconocida) (Referente Desconocido)
* A

El ciervo tiene muchas | E| cuervo dejé caer __ piedras | El cuervo tiene __ piedras
puntas en sus astas. Habia | pequefias en la jarra. Dejé caer | lisas. Tiene __ piedras lisas
— puntas en su asta|  piedra(s) grande(s) mds que | mds que  piedras  de

Comparar | izquierda, y __ en su asta | piedras pequefias. ¢Cudntas | superficie irregular.
derecha. ¢Cudntas puntas | piedras grandes dejé caer enla | ¢Cudntas piedras de

menos habia en la izquierda
respecto de la derecha?

12,15 14,18 15,21

jarra?

8,3 6,9 19,5

superficie irregular tiene el
Cuervo?

9,5 8,7 15,7
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Unit 4 CGI Problems for Aesop’s Fables P

Grouping
and
Partitioning

Multiplicacion

El cuervo tiene __ pilas de
piedras. Ahora hay ___
piedras en cada pila.
¢Cudntas piedras en total
tiene el Cuervo?

3,10 6,5 9,2

Division de medidas

El gato conté ___ pies de ratén.
Cada ratén tiene cuatro pies.
¢Cudntos ratones habia?

Division partitiva

Hay ___ ratones que quieren
formar equipos para tratar
de poner un cascabel al
gato. Si hay ___ equipos,
¢cudntos ratones habrd en
cada equipo si todos los
equipos tienen igual ndmero
de ratones?

15,5 18,3 20,10
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UnitS CGI Problems for My Mexico — Mexico mio

e

(Result Unknown) % A

There were ___ spotted
pigs on the fruck. The

(Change Unknown) A

The children made ___ adobe
bricks. How many adobe

(Start Unknown)

The farmer loaded some
pigs on his truck. His farm

o
- farmer loaded ___ more bricks do they need to make | hand loaded __ more pigs on
g pigs on the truck. How in order o have __ bricks, the ftruck. Now there are __
< many pigs are oh the enough for a flower box pigs on the truck. How many
truck now? planter? pigs were on the fruck to
start?
10,4 6,7 8,9 10,18 7,15 9,20
4,11 5,8 6,9
(Result Unknown) % (Change Unknown) (Start Unknown)
There were __ little There were ____ pigs on the | There were some little
g gourds drying on the vine. | truck. The farmer unloaded | gourds drying on the vine.
u‘: ___gourds were foo dry some and now there are __ Maria picked __ to make
9 and fell off. How many pigs on the truck. How many | into bird houses. Now there
I_C_! gourds are on the vine pigs did the farmer unload? | are __ gourds on the vine.
now? How many gourds were on
the vine to start?
10,6 13,6 17,8 20,10 18,8 16,7

6,6 7,7 9,9

(Total Unknown)

(Addend Unknown)

Put Together/
Take Apart

There were ___ crates of oranges and __
crates of coffee on the cargo truck. How
many crates in all?

There were ___ crates of cargo on the
truck. ___ crates were oranges and the
rest were coffee beans. How many crates
were coffee beans?

Compare

15,10 13,12 8,6 15,5 14,8 17,9
(Difference Unknown) (Bigger Unknown) (Smaller Unknown)
Y A

There were ___ crates of
oranges and ___ crates of
vanilla on the truck. How

There were ___ crates of
vanilla on the truck. There
were ___more crates of
oranges than vanilla. How

In the cargo truck there
were __ crates of coffee.
That's ___ more crates of
coffee than vanilla. How

Summer Math: Crayon Icon — Unit 5, Educator Packet (Summer 2019)
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Unit5S CGI Problems for My Mexico — Mexico mio

e

many more crates of
oranges than vanilla?

15,13 17,7 21,18

many crates of oranges were
there?

10,4 6,7 4,9

many crates of vanilla are
there?
12,4

14,6 21,12

Multiplication

Measurement Division

Partitive Division

6rouping and Partitioning

There are __ corn stalks
in a row of corn. There
are ___ears of corn on
one stalk. How many ears
of corninall?

15,2 20,3 25,4

A fruck carrying oranges
from Veracruz hauls __ bags
of oranges. If there are __
bags of oranges in each
crate, how many crates are
there?

100,10 100,5 45,3

The children made ___ adobe
bricks. If they stack them
in __ piles, how many bricks
will be in each pile?

25,5 30,5 555
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Unit 5

CGI Problems for My Mexico — Mexico mio

e

(Resultado desconocido) | (Cambio desconocido) A (Inicio desconocido)
* A
Habia ___ cerdos con Los nifios hicieron __ El granjero cargé algunos
manchas en el camién. El | ladrillos de adobe. ¢Cudntos | cerdos en su camién. Su
E granjero cargé ___ cerdos | ladrillos de adobe tienen que | bracero cargd ___ cerdos
D mds en el camidn. hacer para tener ___ladrillos, | mds en el camion. Ahora hay
¢Cudntos cerdos hay suficientes para una ___cerdos en el camion.
ahora en el camién? jardinera para plantar ¢Cudntos cerdos habia en el
flores? camioén al principio?
10,4 6,7 8,9 10,18 7,15 9,20 4,11 5,8 6,9
(Resultado desconocido) | (Cambio desconocido) (Inicio desconocido)
*
Habia __ pequeiias Habia __ cerdos en el Habia unas pequefias
calabazas secdndose en la | camién. El granjero descargé | calabazas secdndose en la
& mata. __ calabazas algunos y ahora hay __ mata. Maria recogié __ para
S estaban demasiado secas | cerdos en el camidn. fabricar pajareras. Ahora
s y se cayeron. (Ahora ¢Cudntos cerdos descargé el | hay ___ calabazas en la mata.
n cudntas calabazas hay en | granjero? ¢Cudntas calabazas habia en
la mata? la mata al principio?
10,6 13,6 17,8 20,10 18,8 16,7 6,6 7,7 9,9
(Entero desconocido) % (Parte desconocido)
|
+::’ o | Habia __ cajones de naranjasy __ cajones | Habia ___ cajones de carga en el camidn.
& §|de café en el camién de carga. ¢Cudntos ___cajones contenian naranjas y el resto
N L% cajones serian en total? contenia granos de café. ¢Cudntos
E contenian granos de café?
a 15,10 13,12 8,6 15,5 14,8 17,9
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UnitS CGI Problems for My Mexico — Mexico mio

Ve

(Diferencia desconocido)
* A
Habia __ cajones de
naranjas y __ cajones de
vainilla en el camién de

(Cantidad Desconocida)

Habia __ cajones de vainilla
en el camidn. Habia ___
cajones mds de naranja que

(Referente Desconocido)

En el camion de carga habia

___cajones de café. Eso es
___cajones mds de café que

| .
g carga. ¢Cudntos cajones de vainilla. ¢Cudntos cajones | de vainilla. ¢Cudntos cajones
g. de naranjas mds habia de naranjas habia? de vainilla hay?
o comparado con las de
(S ..
vainilla?
15,13 17,7 21,18 10,4 6,7 4,9 12,4 14,6 21,12
Multiplicacion Division de medidas Division partitiva
;‘ Hay __ plantas de maiz en | Un camidn que transporta Los nifios hicieron __
-3 una hilera de maiz. Hay naranjas desde Veracruz ladrillos de adobe. Si los
2 cl— mazorcas en una transporta ___ bolsas de ordenan en ___ pilas,
3’ 'O | planta. ¢Cudntas son las naranjas. Si hay ___bolsas de | ¢cudntos ladrillos habra en
o ,:-_’ mazorcas en fotal? naranja en cada cajon, cada pila?
S & ¢cudntos cajones hay?
= a
S
E 15,2 20,3 25,4 100,10 100,5 45,3 25,5 30,5 55,5
o
w
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CGlI Graphic Organizer

(Notes)

Show your work:

Answer:

(label)

Explain your strategy:

(Notes)

Show your work:

Answer:

(label)

Explain your strategy:
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